
Using \bar:
X̄ M̄ x̄ ȳ

Using \overline:

X M x y

Top gives width fraction
Side gives height fraction
Thickness 0.2 pt:

0.8 0.9 1.0 1.1 1.2

0.8 X X X X X
0.9 X X X X X
1.0 X X X X X
1.1 X X X X X
1.2 X X X X X

Thickness 0.3 pt:

0.8 0.9 1.0 1.1 1.2

0.8 X X X X X
0.9 X X X X X
1.0 X X X X X
1.1 X X X X X
1.2 X X X X X

Thickness 0.4 pt:

0.8 0.9 1.0 1.1 1.2

0.8 X X X X X
0.9 X X X X X
1.0 X X X X X
1.1 X X X X X
1.2 X X X X X

Thickness 0.5 pt:

0.8 0.9 1.0 1.1 1.2

0.8 X X X X X
0.9 X X X X X
1.0 X X X X X
1.1 X X X X X
1.2 X X X X X

1


